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S2

For a science project, Sally divides her class into 9 teams, with an equal number

of students in each team. If there are 54 students in the class, how many

students does each team have?  

A Ferris wheel at an amusement park has 10 equal-size pods. If the wheel can

carry 40 people in all, how many people can each pod seat?

Ted can make 7 candles with one pack of wax. How many packs of wax does

he need to make 49 candles?

7 = 49×

3 = 24×

Ricky used coupons to get 24 free sachets of shampoo at a store. If each

coupon gave 3 free sachets, how many coupons did Ricky use?

A total of 45 students took part in a quiz show. If they were divided into teams

of 5, how many teams competed in all?

= 455 ×

= 549 ×

1)

3)

2)

4)

5)

= 4010 ×

Multiplication within 100 | Missing Factors
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